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MODEL EXAM II - PAPER 11

CuTEHl SiBley
GENERAL STUDIES

oG — 1
UNIT -1
dfey — &
Section A

Gmiiy -

ii.

iii.

@6lQeut( alamalB@l 150 QFMBHEEHES LISTDE 66Nl U6 HHa)b
Answer not exceeding 150 words each.

@alOeunp elamalBEGL LSS LS IGILIwIS6NT
Each question carries ten marks.

Car@sauUL_Beren. g olemsseisd  ameuBuend oL@  elemssEnsHE LB
alenLwefiésayLb.
Answer any six questions out of seven questions.

6 x10 =60

Analyse the impact of British rule on Indian Economy.
@hHWL QUTHEMTHTIHHD RS0 L Fulet HTHBHHMSH DLTTUIS.

Write a short note on Dr. Muthulakshmi Reddy.
LISLT (pHHI0eL GO Ol GMlL umIs

Give an account of St. Ramalinga’s religious reforms.
@rmoedmies Sigsemiler Fow FIFHlheHImEmend CFHTEHHOHDHIS.

In India, examine how the various socio-religious organisations and movements uplifted
the backward Muslims in the National Scenario upto 1916

@phywmaled GeusiGoum Fwowl -  Fpd BUSERIS6T ealalFHlD LTSRS @Feomlws
FpasHms Gl oenaled (PHCRIMB  MeUSHHT CELISBBTHT  auFeuTBeny  191681D w6
alem] Sule| CFUIs

Highlight the role of Sardar Patel in the Integration of the Indian States.
OhFHW FLOEOSHTOTRIHENT Q(HEISeme Il FTHTT LGLe6T LBISener (WeiTeleneolILihHdls.




Gmily

10.

ii.

1ii.

Write on the contributions of the Sangeet Natak Academy to Indian culture.
AhHWL ueTUT 9B FhSH BTLE STLLOuNer Lmiseillenet’l LBy 6e11pHIs.

Explain the significance of SILF.
SILF-a51 dpliysenen alend@s.

gevg — 11
UNIT -11
dfley — &
Section A

@6lCeur(p elemalB@d 150 CFMBHEDGHE LHSTD6D allenLierobasab
Answer not exceeding 150 words each.

@6lGeuT(p elemalB@d U HLICLIEHTISET
Each question carries ten marks.

CaTBSBLILLBeitem BTG —alembsetey eemeuGuEID. cpaip  alemssEneH@ LB
alenLwiefldsaLD.
Answer any three questions out of four questions.

3x10=30

Vaidegi sold\.two sarees for X2200 each. On one she gains 10% and on the other she loses
12%. Calculate her gain or loss percentage in the sales. (10m)

auBsd, B Bsamevsmenr Heomr I 2200 B oipmrer. @amler e 10% SevrudHemsun
Boprafer sl +12% BLLESMSWD SdLbHSTET  eafled, GFmevaamen alBBHL Sieuerer
®6uTUD DIVEVH! BLLF FHOHHMHDH HT61H.

Answer the following

a. The volume of a cylindrical water tank is 1.078x10°litres. If the diameter of the tank is
7 m, find its height. (5m)

QM 2_(HameT augal Sewienty Ozt iguien ser oSeney 1.078x10°6IL Ly Sy@b QM iguie
allL 7 1§ eaiaflled, OIHeT o WD SHTewIsb.

b. The floor of an office building consists of 200 rhombus shaped tiles and each of its
length of the diagonals are 40 cm and 25 cm. Find the total cost of polishing the floor

at ¥45 per sq.m. (5m)

QT DIUVSHDS SLIPL G Hmguled 200 FTUWIFHIT eugalevrer eBH6T LS SSLILIL (HET6eNT6.
QBN  cpemevall L miseller Slemeydeil 40 OF.15 wBBID 25 OF.5 ereled, Hemgenul
QML LF FHIOLHEEG I 45 aipld Qrhssd OFevameld &Taw s

From a well shuffled pack of 52 cards, one card is drawn at random. Find the probability
of getting (i) red card (ii) heart card (iii) red king (iv) face card (v) number card
B BMVHH SBSBIULL 54 FLBeemend Oamewi  FLU(HEHFSLI960(HHEH  FLOUTUILIL]
weopuled @m FLG aBssluGABEH. D (1) Aty Bps LG (i) amrm F.G (i) FHeulny
BB @yrer (iv) ws FLG (V) eeur FLTe QBLLSBETEN BHHDHHMmeUd H6wIL 5ls




11.

Answer the following

a. The sum of two numbers is 1000 and the difference between their squares is 256000.
Find the numbers (5m)
Breni®  eTewidelen gnl HHOGHTens 1000 WBWID  SleuBpsledt  UTHEBMIBEHDHEG EenL UlevTent
Goupium® 256000 e6lalled SibHSH 6TEWIHEMEDH HTEWIH

b. The father’s age is six times his son’s age. Six years hence the age of father will be four
times his son’s age. Find the present ages (in years) of the son and father. (5m)
SHHOSHUIET UISTETH  oHeNer aLmBLICUTL SIMIDLBIG DG, B QUHLHIBEHHESL!
UB& ShHoSWIET aLSTRIH ST aLmSLICUTEL BTG LLMEG DIHSBD. HHodH LOBEBID
e HBOUTMHUI UL (aU(HLHIHET60) SHTENIH
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Gmiiy :

ii.

iii.

12.

13.

14.

15.

@6elQeut(p alemealB@ 150 QFMBHEHHE LISTO 6flenLul6efHEa|b
Answer not exceeding 150 words‘each.

@auteut elemalB@L UHSI LLHICILIEHTISEIT
Each question carries ten marks.

CarhaHslU Beiten gl  alamsseied  amaBueid B elemesEnHE LB
allenLwierébe6Lb.
Answer any six questions out of seven questions.

6 x 10 = 60
Write the preparation and uses of carborundum.
&TTeUMyemIL H&leir HWMALIL LOBEBILD LWGTHEm6N 6T(LHIH.

(a) How is steel different from Iron? Four points.

(b) Name two advantages of converting iron into steel.

(c) How can the above conversion be done?

a. IS BHLLSGWD o 6o Ceumpunhser (aTeneuGuanid BTG LU (BLD) 6I(LDHIS.

b. ®memus BT gend, 6vleed 6MhH amBUled (amalCueid @Teaii() FBhHH IS
T(LSISH.

. CuB@MILLIL LU (heiTem LOTHBBLD eTeleumml HewL GLmID?

Outline the steps involved in gene cloning.
et GGenmerlim GFuIeugded o 6item sul(enmEemen GHBILILIBS

Define Respiratory Quotients (RQ) and describe how it varies with respiratory substrates.
goaurgd  GCaTiumth euedJWBISH DG 66Tl  &GeUTF  (PedHdapl  OUTBISSI  WLTBILGSBS
gl alendhEHd




16.

17.

18.

Answer the following

a. How do 'touch screens' work? (3m)
‘Oamh Hagser eeleurp GFuwIOLIBES 36 ?

b. What is Fifth Generation (5G) in Telecommunication? (7m)
HBH6U6D QamLTYG Camiled B LIS 60 MHHTLD HEMEV(LPEONB CamiHed
BLuD (5G) ereiBmed eTedent?

Explain Airborne and waterborne diseases
sy wBpId Biler cpsod ugeyd Gpmuisemen afleufl?

Explain in detail the differences between invertebrates and vertebrates.
(PSHIOBIDL] DIBBEDUBEHHGLD, (PHICHEIDL] 2 6iTeTenalBEhHSGHID 2 6ien CoumLTBH6T WiTeneu?

Ufley — &
Section - B

Gmiiy :

19.

20.

21.

22.

23.

24.

@6euQeut(p alemalB@ 250 QFMBHEHHE LWSToeL 6flenLulefsHaLb
Answer not exceeding 250 words each.

@auteut alleamalB@L WSlmeanhel LS ICILIGKTEHEIT
Each question.carries Fifteen marks.

CaThoHsluBeiten - suBl olamssefed  eTaneuBuand. WmbH elemisEndsE LB
allenLwiem&Bsa]Lb.
Answer any Five questions out of six questions.

5x15=75

Explain in detail the modern Hindu Renaissance.
poler @bal wpiweoTFS LBy elfleurs allendseaLb.

Estimate the significance of Swadeshi Movement.
&8ad BWEHsHIH (PHHW allemere)demer LOFHILIBHS.

Discuss the various movements started by Gandhiji to draw the participation of mass into

National movement.
wissmen CarFlw BuSssHFe0 URIGOUB OQFUISHL  STHHwgseT SIblsHsH LoCaupm Buiss
BLIGHmBHMET LUBM alleurs.

Discuss the important provisions of the Regulating Act of 1773.
17730 6WI(h QUPEIG (WBFFLLHH (PpHHW FTHBHIHHEM6N aleuTs).

Write a brief note on the contribution of Bharathiar as a Patriotic Journalist.
Cxpdlw ushFHNbmdaurdurs LTFHWTT BB LIS 6T FnnIis.

Write a detailed note on Azadi ka Amrit Mahotsav
ghHTS HmBTeT Siupsll Gumalpr Giisa alflans 6w




SWIL:

25.

26.

l.

1ii.

ifley — &
Section B

@6lGeun(p alemalB@d 250 CFMBHEHGHE LHSTD6D allenLierobsab
Answer not exceeding 250 words each.

@6Ceun(p alemalB@ UHMINHSH LSIIGILIGISEIT
Each question carries Fifteen marks.

CarhsaluL_(Beiten  cpadipl  ellamaseisd  samauBuenid @IewiB  ale@MmE®HEHHE LB
alenLwieflesaib.
Answer any two questions out of three questions.

2x15=30

Answer the following

a. Basha borrowed X 8,500 from a bank at a particular ratesof simple interest. After 3
years, he paid X 11,050 to settle his debt. At what rate of interest he borrowed the
money? (5m)
uTLegm  eleileut @b eumSluleddbal @mh GEULILL | Salally. aigHdHe0 h.8,500 m&
SLemal  QUBDBTT.  cpeiipl  pliBHeT SWHHHI ST @h.11,050° @BF QFHHE HL et
SIMLSHSTT 6Taled el 1o iG> eT6U6IeT6Y?

b. Find the compound interest forZ% years on 34000 at 10 % p.a if the interest is

compounded yearly. (5m)
5.40005@ . 10% " @uewih  aul1puled TIHHESTH (LPdB Al 19dh BHEISHLLILGID (Lpenmuied
22 LeWIbBEHES, FMLHGID Tl (B Il lgenuidh SHTewIH

c. Find the difference between simple interest and compound interest on Rs.6,400 for 2
years at 6 %% p. a. compounded annually. (5m)
5.6400805@ 6 Va % WG eully aiHD 2 SHLWIGHeNe0 HMLEGID dnl (B U 9SG Heoll
QLRSS 2 6Ten alHHWTFID HTewd

Answer the following

a. The radius and height of a right circular solid cone are 7 cm and 24 cm respectively.
s 22
Find its curved surface area, total surface area and volume. (Take = 7) (9m)
R FHewio GhTauLd amibilet SuId wBmid o wrh wosCw 7 .15 wBpw 24 5.5
22

aTealleL, SIH6TT eUEMLITLIL, OOTSHSU UBLILTLL WBBID HeTSIEN6) SHT6uIH. (7r=7)

b. A hollow cylindrical iron pipe is of length 28 cm. Its outer and inner diameters are 8
cm and 6 cm respectively. Find the volume of the pipe and weight of the pipe if 1

cu.cm of iron weighs 7 gm. (Take = %) (6m)




27.

QR o eTefLmms @by @wruller memd 28 GF.16., SiHear Oeuel WLBBID 2 6Tall L RISeT
(wepBuw 8 QF.15 wBmIb 6 QF.5 eefsd, EmUS GWTUIET HaToleTemeld SHTenid. GLevid
1 &.05.18 Qblear een 7 Hmb elefled, SHOLS GOTUNET GTEDLDUISH HTCHIH. (ﬂ'=§)

A can do a work in 45 days. He works at it for 15 days and then, B alone finishes the
remaining work in 24 days. Find the time taken to complete 80% of the work, if they work
together. (15m)

A semait @ Geauemevenul 45 HILHeMed (PQLUTT. SeuT 15 BT &Enda@ WL GG  Galemev
Qwigtt. Isg B semeut WBslmbs Geauemevulenenr 24 HTLHeMed  (LPQHABIT.  B([HeU(HLD
Benenibal Gouemev GFUISHTeL, OibH Geuemevulest 80% & (Pdbd UG CHIHMBHH HTawHIH

Uifley — <3
Section B

Gmiiy :

ii.

1ii.

28.

29.

30.

31.

@6elQeut(p alemelB@ 250 QFMBHEHHE LWSToe ellenLwefsaa|b
Answer not exceeding 250 words each.

@aueut elemalB@L UHmeanbdl IOSIICILIEwTEHET
Each question carries fifteen marks.

CaThssILL BeiTen  HAGHEG  alambsefed eclmauBuigDd | pSIB  alemSHEHHSG L (BLD
alenL wiefisbse L

Answer.any three questions out of four questions.

3x15=45

Discuss the various methods of using pesticides.
UFFE0BTe000H6T LIUITLGSSLILGBLD LevGeuml (penpEemnen aileuf]

What are stem cells? Explain the role of stem cells in medical treatment.
(60 CF6LHET 61IBT6L 6T6iTe? LO(HHHIe FHHmaFuled cpev QFe0BeMeT LIBIFener allendEHsd.

Explain about diseases and Disorders due to lifestyle Modification.
QUTDSHMSB(LPMMB  LOTBBEISET SHTJeond gBuUBLd ChmuiseT wmmid Csmenmmiser Lms afleurl.

Explain about Drug, Alcohol and Tobacco Abuse.
O(HHSI, SLELVBHABTEV, Lendulemeouier Heummer LweaLTG UbBpsaleufl?




